
  
 

 
Drawings for 

“Moulds” (with 7 different types)  
 

for the Tender of  
 

“Fabrication and Supply  
of  

Moulding Tools for PS3A” 
 

 

 

 

Note: All the dimensions are in mm for all the drawings 
     



3020

3

IS:808

2

11 CONICAL SHELL 180° x 20 THK.

4

ISLC100 x 100 x 2820 L (BOX SECTION) 1

30°

1861.4

8(TYP)

18
61

.4

5

ISLC100 x 100 x 496 L (BOX SECTION) IS:8082

     1

11

SECTION-AA 6

4EYE BOLT M24 WITH WASHER & NUT 

TM-1: TOOL MARK OF
           0.5mm DEPTH AT Ø2030.5

Fe410W B
IS2062

IS2062
Fe410W B

12

11

10

7

8

9 ISLC100 x 100 x 3020 L (BOX SECTION) IS:8082

CIRCULAR STIFFENER-1

CIRCULAR STIFFENER-2
Fe410W B
IS2062

CIRCULAR STIFFENER-3
Fe410W B
IS2062

WEB-2
Fe410W B
IS2062

WEB-3
Fe410W B
IS2062

WEB-4
Fe410W B
IS2062

WEB-1
Fe410W B
IS2062

5

P1-CS-1-23-1

P2-CS-2-23-2

P3-CS-3-23-3

P4-W-1-23-4

P5-W-2-23-5

P6-W-3-23-6

P7-W-4-23-7

75(TYP)

50
(T

YP
)

STD

STD

STD

STD

4.9°

5.7°x3

4.9°

6.5°x2
4.9°

M6x1 TAPPED HOLE, 25 Nos.,
7mm DEPTH ON PCD. 2753.4

M6x1 TAPPED HOLE,
25 Nos.,7mm DEPTH

ON PCD. 1968

B

20
 (m

in.
)

7

DETAIL-B

77
0

FINISH:-     (         )

8(TYP)

TOOL MARK OF 0.5mm DEPTH AT Ø2694.5

265125 265

2

LC

TAPPED HOLE M6x1x7mm DEPTH , 25 Nos.,
ON EACH PCD 2753.4 & 1968

10

7

6

9

6.5°x2

=                     =

4

6.5°x2
4.9°

5.7°x3

4.9°

6.5°x2

4.9°

5.7°

6

6

6

6

A

A

TOOL MARK OF 0.5mm DEPTH AT Ø2030.5

TOOL MARK OF 0.5mm DEPTH AT Ø2694.5

30°

30
°

12

4.9°

5 5

6
6

7 7

8 8 8

B

NOTE:-
1. ALL JOINTS ARE TO BE WELDED BY 6mm FILLET WELD.
2. STRESS RELIEVING TO BE DONE BEFORE MACHINING.
3. STRESS RELIEVING TO BE DONE BY HEATING METHOD ONLY.

1

1

1

628.12

(127)

4.9°
5.7°

5.7°x12

5.7°x12

805

3

PROVISIONAL

129 173 173

IS:1570

4DETACHABLE WHEEL13 BLICKLE
MAKE

250(TYP)

 (TYP)

E

F

D

TOOL MARK OF 0.5mm DEPTH AT 2760.8

TOOL MARK OF 0.5mm DEPTH AT 1957.4

760      (Layup Line)

TOOL MARK OF 0.5mm DEPTH AT 2760.8

TM-2: TOOL MARK OF
           0.5mm DEPTH AT 1957.4

90°

±0.5

±0.5

0.05

0.5 A B

A

0.1
0.2 A

±0.5

±0.5

58.09°

B

Ø
 2

82
8.

3±0
.3

6
6 (TYP)

TM-1

TM-2

*
**

*

**

Ø 2828.3
±0.3

Qty
Item No / Name of the item /

MaterialSub Part No
Drawing No of Sub Part /

RemarksName of the Sub Part

±0.5

±0.5

±0.5

±0.5

±0.5

±0.5

SCALE-NTS

SQUARE SECTION WITH EYE BOLT 414 STD

Drawing No for this part No-14 is
SS-W-EB-1

This part No-14 is not shown
in this drawing.

This part No-14 to be welded
with BOX section (Part No-11)
at 4 places.

Position and welding details for
the Part No-14 will be
mentioned in the final approved
dawing along with Purchase Order.

Outer Surface of Conical Shell is region of Moulding
(region of CFRP composite Moulding)



11.5°

40°
34.3°

157°

FL ILS

VIEW-D
(TOOL MARKS ON MOULD SURFACE)

G

DETAIL-E

92
9

80
6

13

±0.1

LC

DETAIL-F

H

14
16

13
48

450450

±0
.1

SECTION - GG

SECTION - HH

NOTE:- ALL TOOL MARKS  SHALL BE PROVIDED AS PER 3D MODEL

±0.1

±0
.1

13
48

±0
.1

G

H

±0.1450450 ±0.1

±0
.1

±0
.1

80
6

±0
.1

±0
.1

Ø6 H7 TOOLING HOLE,  3 Nos. ,10mm DEEP

Ø6 H7 TOOLING HOLE,
3 Nos. ,10mm DEEP

13
±0

.1

51.3°

C/O-3

C/O-5
200

200

TOOL MARK OF 0.5mm DEPTH AT Ø2694.5

TOOL MARK OF 0.5mm DEPTH AT Ø2030.5

TOOL MARK FOR
ILSS COUPON AREA
260mm x 26mm

TOOL MARK FOR FLEXURAL COUPON AREA
300mm x 125mm

12
5

10

10

26

LAYUP LINE

157°

TRIM LINE TRIM LINE

C/O-2

C/O-4

140

140

TOOL MARK OF 0.5mm
DEPTH AT 2760.8

TOOL MARK OF 0.5mm DEPTH AT 1957.4

25

25

30 30

±0.5

±0.5

±0.5

±0.5

25

30

30

25

30
30

2525

PROVISIONAL

Outer Surface of Conical Shell is region of Moulding
(region of CFRP composite Moulding)



30°

1861.4

8(TYP)

11

5

2828.3

75(TYP)

75
(T

YP
)

M6x1 TAPPED HOLE,
25 Nos.,7mm DEPTH

ON PCD. 1968

20
 (m

in.
)

7

DETAIL-B

77
0

FINISH:-     (         )

TAPPED HOLE M6x1x7mm DEPTH, 25 Nos.,
ON EACH PCD 2753.4 & 196810

7

6

9

=                     =

A

A

TOOL MARK OF 0.5mm DEPTH AT Ø2030.5

TOOL MARK OF 0.5mm DEPTH AT Ø2694.5

30°

30
°

12

5 5

6
6

7 7

8 8 8

NOTE:-
1. ALL JOINTS ARE TO BE WELDED BY 6mm FILLET WELD.
2. STRESS RELIEVING TO BE DONE BEFORE MACHINING.
3. STRESS RELIEVING TO BE DONE BY HEATING METHOD ONLY.5.7°x25

5.7°x25

PROVISIONAL

M6x1 TAPPED HOLE, 25 Nos.,
7mm DEPTH ON PCD. 2753.4

TOOL MARK OF 0.5mm DEPTH AT 2760.8

TOOL MARK OF 0.5mm DEPTH AT 1957.4

3020

250(TYP)

E

F

18
61

.4

     1

SECTION-AA

TM-1: TOOL MARK OF
           0.5mm DEPTH AT Ø2030.5B

8(TYP)

TOOL MARK OF 0.5mm DEPTH AT Ø2694.5

265125 265

2

LC

4

B

628.12

(127)

805

3

129 173 173

 (TYP)

D

760      (Layup Line)

TOOL MARK OF 0.5mm DEPTH AT 2760.8

TM-2: TOOL MARK OF
           0.5mm DEPTH AT 1957.4

±0.5

±0.5

0.05

0.5 A B

A

0.1
0.2 A

±0.5

±0.5

58.09°

B

Ø
 2

82
8.

3±0
.3

6
6 (TYP)

TM-1

TM-2

*
**

*

**

±0.5

±0.5

90°

±0.3

±0.5

±0.5

±0.5

±0.5

3

IS:808

2

11 CONICAL SHELL 180° x 20 THK.

4

ISLC100 x 100 x 2820 L (BOX SECTION) 1

5

ISLC100 x 100 x 496 L (BOX SECTION) IS:8082

6

4EYE BOLT M24 WITH WASHER & NUT 

Fe410W B
IS2062

IS2062
Fe410W B

12

11

10

7

8

9 ISLC100 x 100 x 3020 L (BOX SECTION) IS:8082

CIRCULAR STIFFENER-1

CIRCULAR STIFFENER-2
Fe410W B
IS2062

CIRCULAR STIFFENER-3 Fe410W B
IS2062

WEB-2 Fe410W B
IS2062

WEB-3
Fe410W B
IS2062

WEB-4
Fe410W B
IS2062

WEB-1 Fe410W B
IS2062

P1-CS-1-23-1

P2-CS-2-23-2

P3-CS-3-23-3

P4-W-1-23-4

P5-W-2-23-5

P6-W-3-23-6

P7-W-4-23-7

STD

STD

STD

STD

6

6

6

6

1

1

1

4DETACHABLE WHEEL13 BLICKLE
MAKE

Qty
Item No / Name of the item /

MaterialSub Part No
Drawing No of Sub Part /

RemarksName of the Sub Part

IS:1570

SCALE-NTS

SQUARE SECTION WITH EYE BOLT 414 STD

Drawing No for this part No-14 is
SS-W-EB-1

This part No-14 is not shown
in this drawing.

This part No-14 to be welded
with BOX section (Part No-11)
at 4 places.

Position and welding details for
the Part No-14 will be
mentioned in the final approved
dawing along with Purchase Order.

Outer Surface of Conical Shell is region of Moulding
(region of CFRP composite Moulding)



VIEW-D
(TOOL MARKS ON MOULD SURFACE)

G

DETAIL-E

92
9

80
6

13

±0.1

LC

DETAIL-F

H

14
16

13
48

450450

±0
.1

SECTION - GG

SECTION - HH
NOTE:- ALL TOOL MARKS  SHALL BE PROVIDED AS PER 3D MODEL.

±0.1

±0
.1

13
48

±0
.1

G

H

±0.1450450 ±0.1

±0
.1

±0
.1

80
6

±0
.1

±0
.1

Ø6 H7 TOOLING HOLE,  3 Nos. ,10mm DEEP

Ø6 H7 TOOLING HOLE,  3 Nos. ,10mm DEEP

13
±0

.1

40°

157°

FL ILS

40°

TOOL MARK OF 0.5mm DEPTH AT Ø2694.5
TOOL MARK OF 0.5mm

DEPTH AT 2760.8

TOOL MARK OF 0.5mm DEPTH AT Ø2030.5

TOOL MARK OF 0.5mm DEPTH AT 1957.4

TOOL MARK FOR ILSS COUPON AREA
260mm x 26mm

12
5

10

10

26

C/O-9

200

C/O-8

200

LAYUP LINELAYUP LINE

157°

TRIM LINE TRIM LINE

TOOL MARK FOR FLEXURAL COUPON AREA
300mm x 125mm

±0.5

±0.5

±0.5

±0.5

30

25 30

25

30

25

30
30

30 2525

25

PROVISIONAL

Outer Surface of Conical Shell is region of Moulding
(region of CFRP composite Moulding)



40°

(5
61

.7
)

ISLC100 x 100 x 1300 L (BOX SECTION)

EYE BOLT M20 WITH WASHER &  NUT 

ISLC100 x 100 x 496 L (BOX SECTION)

ISLC100 x 100 x 1100 L (BOX SECTION)

18
61

.4

129

805

8(TYP)

8(TYP)
A

SECTION-AA

5

620.5

967.3

1

32

4

6

7

8

10

11

75(TYP)

50
(T

YP
)

1300

M6x1 TAPPED HOLE, 2 Nos.,
7mm DEPTH ON PCD 2753.4

M6x1 TAPPED HOLE, 2 Nos.,
7mm DEPTH ON PCD 1968

5°

10

B

DETAIL-B

7

SCALE-NTS

20
 (m

in
.)

9

35°

12

CL

TAPPED HOLE M6x1,7mm DEPTH, 2 Nos.,
ON EACH PCD 2753.4 & 1968

=                     =

TOOL MARK OF 0.5mm DEPTH AT Ø2694.5

TOOL MARK OF 0.5mm DEPTH AT Ø2030.5

FINISH:-

NOTE:-
1. ALL JOINTS ARE TO BE WELDED BY 6mm FILLET WELD.
2. STRESS RELIEVING TO BE DONE BEFORE MACHINING.
3. STRESS RELIEVING TO BE DONE BY HEATING METHOD ONLY.

(127)(TYP)

628.12

125 265 265

173 173

A

R
93

0.
7

69
6

PROVISIONAL

TOOL MARK OF 0.5mm DEPTH AT 2760.8

TOOL MARK OF 0.5mm DEPTH AT 1957.4

13
250(TYP)

E

F

D

760       (Layup Line)

TM-1: TOOL MARK OF
           0.5mm DEPTH AT Ø2030.5

TOOL MARK OF 0.5mm DEPTH AT Ø2694.5

B

TOOL MARK OF 0.5mm DEPTH AT 2760.8

TM-2: TOOL MARK OF
           0.5mm DEPTH AT 1957.4

±0.5

±0.5

0.05

0.5 A B

A

0.1
0.2 A

±0.5

±0.5

B

58.09°

* *

Ø
 2

82
8.

3±0
.3

6
6 (TYP)

TM-1
TM-2

*

*

**

90°

±0.5

±0.5

R
14

14
.1

5

±0.5

±0.5

±0.5

±0.5

3

IS:808

2

11 CONICAL SHELL 40° x 20 THK.

4

1

5

IS:8082

6

4

Fe410W B
IS2062

IS2062
Fe410W B

12

11

10

7

8

9 IS:8082

CIRCULAR STIFFENER-1

CIRCULAR STIFFENER-2
Fe410W B
IS2062

CIRCULAR STIFFENER-3
Fe410W B
IS2062

WEB-2
Fe410W B
IS2062

WEB-3
Fe410W B
IS2062

WEB-4
Fe410W B
IS2062

WEB-1
Fe410W B
IS2062

P1-CS-1-22-1

P2-CS-2-22-2

P3-CS-3-22-3

P4-W-1-22-4

P5-W-2-22-5

P6-W-3-22-6

P7-W-4-22-7

STD

STD

STD

STD

2

2

2

2

1

1

1

IS:1570

4DETACHABLE WHEEL13 BLICKLE
MAKE

Qty
Item No / Name of the item /

MaterialSub Part No
Drawing No of Sub Part /

RemarksName of the Sub Part

SQUARE SECTION WITH EYE BOLT 414 STD

Drawing No for this part No-14 is
SS-W-EB-1

This part No-14 is not shown
in this drawing.

This part No-14 to be welded
with BOX section (Part No-11)
at 4 places.

Position and welding details for
the Part No-14 will be
mentioned in the final approved
dawing along with Purchase Order.

Outer Surface of Conical Shell is region of Moulding
(region of CFRP composite Moulding)



G

DETAIL-E

92
9

88
7

250250

13
±0

.1

LC

DETAIL-F

H

13
48

450450

±0
.1

SECTION - GG

SECTION - HH

FL IL
S

VIEW-D
(TOOL MARKS ON MOULD SURFACE)

NOTE:- ALL TOOL MARKS  SHALL BE PROVIDED AS PER 3D MODEL.

±0.1 ±0.1 

±0
.1

G

Ø6 H7 TOOLING HOLE,  3 Nos. ,10mm DEEP

±0
.1

±0.1 ±0.1 

88
7

±0
.1

14
16

±0
.1

H

13
48

±0
.1

13
±0

.1

Ø6 H7 TOOLING HOLE,  3 Nos. ,10mm DEEP

26
125

1010

LA
YU

P
 L

IN
E

LAYUP
 LIN

E

TR
IM

 L
IN

ETR
IM

 LIN
E

30°

40°

TOOL MARK OF 0.5mm DEPTH AT Ø2694.5

TOOL MARK OF 0.5mm DEPTH AT 2760.8

TOOL MARK OF 0.5mm DEPTH AT Ø2030.5

TOOL MARK OF 0.5mm DEPTH AT 1957.4

TOOL MARK FOR ILSS COUPON AREA
260mm x 26mm

TOOL MARK FOR FLEXURAL COUPON AREA
300mm x 125mm

PROVISIONAL

±0.5

±0.5

±0.5

±0.5

30
30

3025 25

25

30
30

30

252525

Outer Surface of Conical Shell is region of Moulding
(region of CFRP composite Moulding)



10
0

200(TYP)

R20(TYP)

13
25

31.91°

50

8

R250

30°(TYP)
=             =

R1
33

0

(T
YP)

IS2062Fe410W B

Scale : NTS
Qty : 1

Name of the Part : CIRCULAR STIFFENER-1
Material:

Drawing No : P1-CS-1-23-1

Note  : All dimensions are in mm

FINISH:-
PROVISIONAL



R20(TYP)

150(TYP)

10
0

8

11
55

31.91°
50

30°(TYP)

R250

=             =

R1
16

0

(TY
P)

IS2062Fe410W B

Scale : NTS
Qty : 1

Name of the Part : CIRCULAR STIFFENER-2
Material:

Drawing No : P2-CS-2-23-2

Note  : All dimensions are in mm

FINISH:-

PROVISIONAL



50

R20(TYP)

7.5

10
0(T

YP)

100(TYP)

98
5

31.91°

30°(TYP)

R250

=                   =

R9
90

IS2062Fe410W B

Scale : NTS
Qty : 1

Name of the Part : CIRCULAR STIFFENER-3
Material:

Drawing No : P3-CS-3-23-3

Note  : All dimensions are in mm

FINISH:-
PROVISIONAL



8125

31
.9

1°

75
9

IS2062Fe410W B

Scale : NTS
Qty : 6 Nos [LH-1 to 3 and RH-1 to 3]

Name of the Part : WEB-1
Material:

Drawing No : P4-W-1-23-4

Note  : All dimensions are in mm
FINISH:-

PROVISIONAL



31
.9

1°

92
9

8265

50(TYP)

22
0(

TY
P

)

75
R20(TYP)

75
50

(T
Y

P
)

IS2062Fe410W B

Scale : NTS
Qty : 6 Nos [LH-1 to 3 and RH-1 to 3]

Name of the Part : WEB-2
Material:

Drawing No : P5-W-2-23-5

Note  : All dimensions are in mm FINISH:-

PROVISIONAL



10
99

31
.9

1°

8265

75

R20(TYP)

50
(T

Y
P)

50(TYP)

75
22

0(
TY

P)

IS2062Fe410W B

Scale : NTS
Qty : 6 Nos [LH-1 to 3 and RH-1 to 3]

Name of the Part : WEB-3
Material:

Drawing No : P6-W-3-23-6

Note  : All dimensions are in mm FINISH:-

PROVISIONAL



126 8

11
82

31
.9

1°

IS2062Fe410W B

Scale : NTS

Qty : 6 Nos [LH-1 to 3 and RH-1 to 3]

Name of the Part : WEB-4
Material:

Drawing No : P7-W-4-23-7

Note  : All dimensions are in mm FINISH:-

PROVISIONAL



IS2062Fe410W B

Scale : NTS
Qty : 1

Name of the Part : CIRCULAR STIFFENER-1

8

47
8

31.91°

FINISH:-

R
13

30

40°

PROVISIONAL

Material:

Drawing No : P1-CS-1-22-1

Note  : All dimensions are in mm



8

30
8

31.91°

FINISH:-

R
11

60

40°

PROVISIONAL

IS2062Fe410W B

Scale : NTS
Qty : 1

Name of the Part : CIRCULAR STIFFENER-2
Material:

Drawing No : P2-CS-2-22-2

Note  : All dimensions are in mm



IS2062Fe410W B

Scale : NTS
Qty : 1

Name of the Part : CIRCULAR STIFFENER-3
Material:

Drawing No : P3-CS-3-22-3

Note  : All dimensions are in mm

8

13
8

31.91°

FINISH:-

R
99

0

40°

PROVISIONAL



8

13
3

126

31
.9

1°

FINISH:-

PROVISIONAL

IS2062Fe410W B

Scale : NTS
Qty : 2 Nos [LH-1 and RH-1]

Name of the Part : WEB-1
Material:

Drawing No : P4-W-1-22-4

Note  : All dimensions are in mm



8

30
3

265

FINISH:-

31
.9

1°

PROVISIONAL

IS2062Fe410W B

Scale : NTS
Qty : 2 Nos [LH-1 and RH-1]

Name of the Part : WEB-2
Material:

Drawing No : P5-W-2-22-5

Note  : All dimensions are in mm



265 8

47
3

31
.9

1°

75

50(TYP)

R20(TYP)

75

FINISH:-

PROVISIONAL

IS2062Fe410W B

Scale : NTS
Qty : 2 Nos [LH-1 and RH-1]

Name of the Part : WEB-3
Material:

Drawing No : P6-W-3-22-6

Note  : All dimensions are in mm



125 8

55
6

31
.9

1°

FINISH:-

PROVISIONAL

IS2062Fe410W B

Scale : NTS
Qty : 2 Nos [LH-1 and RH-1]

Name of the Part : WEB-4
Material:

Drawing No : P7-W-4-22-7

Note  : All dimensions are in mm



Mould Assembly of
             MOULD (P+) FOR PS3 ADAPTOR FOR PSLV /
             MOULD (P-) FOR PS3 ADAPTOR FOR PSLV /
             MOULD (Y+/Y-) FOR PS3 ADAPTOR FOR PSLV /









784

21

26

18

22

R2R2

22

715

7.
5

22

7.
5

21

34.5

R3R3

[      ]

Name of the Mould : HAT STIFFENER MOULD FOR PS3 ADAPTER
Material : Al. ALLOY B51 SWP

Qty : 62 Nos

Scale : NTS

NOTE:- R3.1 x 24 LENGTH SLOTS SHOULD BE ON THE AXIS WITHIN  AN ALIGNMENT ACCURACY OF 0.1mm.

R3.1

12.5

18

246.5

0.
1

0.
1

0.1

0.1

R
3.

1
6.

2

Drawing No : Mould-7-HM-10

NOTE:- All dimensions are in mmMoulding region:
The entire surface
(except 34.5 mm portion at both the ends)
 is region of Moulding
(region of CFRP composite Moulding)

34.5



  
 

 
Region of Moulding on the Mould 

 
Sl. 
No 

Name of the Mould with Drawing No *Region of Moulding 
(CFRP Composite moulding) 

Remarks 

1.  
MOULD (P+) FOR 
PS3 ADAPTOR FOR PSLV 
[ Drg No-Mould-1-Assembly-PP-23 ] 

Outer surface of Conical Shell 
(Item No-1 as mentioned in the drawing) 

Region of 
Moulding 

(CFRP 
Composite 
moulding 
are shown 

in the 
drawings 

also 

2.  
MOULD (P-) FOR 
PS3 ADAPTOR FOR PSLV 
[ Drg No- Mould-2-Assembly-PM-24 ] 

Outer surface of Conical Shell 
(Item No-1 as mentioned in the drawing) 

3.  
MOULD (Y+/Y-) FOR 
PS3 ADAPTOR FOR PSLV 
[ Drg No- Mould-3-Assembly-YPM-22 ] 

Outer surface of Conical Shell 
(Item No-1 as mentioned in the drawing) 

4.  
MOULD FOR PS3A 
CIRCULAR ANGULAR BRACKET 
[ Drg No- Mould-4-Assembly-CAB-09 ] 

Angular faces (by 60.1 deg angle) and top side 
horizontal faces of “Basic Shell” 
(Item No-1 as mentioned in the drawing) 

5.  
MOULD FOR CIRCULAR ANGULAR 
BRACKET (TYPE-II) FOR PS3 ADAPTOR 
[ Drg No- Mould-5-Assembly-CAB-04 ] 

Angular faces (by 123.6 deg angle) of  
“Basic Shell” (Item No-1 as mentioned 
in the drawing) 

6.  
MOULD FOR CFRP ANGULAR 
BRACKET FOR PS3 ADAPTOR 
[ Drg No- Mould-6-CF-AB-07 ] 

Refer section-AA in the drawing; Outer faces 

7.  
HAT STIFFENER MOULD FOR PS3A 
ADAPTOR 
[ Drg No- Mould-7-HM-10 ] 

All the region, except 34.5 mm portion 
at both the ends (refer the drawing) 

*Acceptance tests of “Vacuum Integrity Test at room temperature” and “Vacuum Integrity Test at High 
temperature with 5 bar pressure inside Autoclave” to be done by Vendor at the region of moulding region 
as mentioned above for each mould. 


	01-First page
	02-Mould-1-Assembly-PP-23-Sheet-1 of 2-20-10-24-Final
	03-Mould-1-Assembly-PP-23-Sheet-2 of 2-20-10-24-Fina
	04-Mould-2-Assembly-PM-24-Sheet-1 of 2-20-10-24-Final
	05-Mould-2-Assembly-PM-24-Sheet-2 of 2-20-10-24-Final
	06-Mould-3-Assembly-YPM-22-Sheet-1 of 2-20-10-24-Final
	07-Mould-3-Assembly-YPM-22-Sheet-2 of 2-20-10-24-Final
	08-P1-CS-1-23-1
	09-P2-CS-2-23-2
	10-P3-CS-3-23-3
	11-P4-W-1-23-4
	12-P5-W-2-23-5
	13-P6-W-3-23-6
	14-P7-W-4-23-7
	15-P1-CS-1-22-1
	16-P2-CS-2-22-2
	17-P3-CS-3-22-3
	18-P4-W-1-22-4
	19-P5-W-2-22-5
	20-P6-W-3-22-6
	21-P7-W-4-22-7
	22-Square Section with EYE Bolt-SS-W-EB-1 Model
	23-Mould-4-Assembly-CAB-09
	24-Mould-5-Assembly-CAB-04
	25-Mould-6-CF-AB-07
	26-Mould-7-HM-10-Final-20-10-21
	27-Moulding region

